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o.e 1 Four faces of a cube are drawn on the grid.

Complete the net of this cube.
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The diagram shows a quadrilateral drawn on a 1 cm square grid.

(a) Write down the mathematical name of the quadrilateral.

Answer(a)

(b) Find the area of the quadrilateral and give the units.

EsssssassssussEEnnanD ssssssessazs

Answer(b)
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On the grid, complete the net of the box.
The base and one face of the box have been drawn for you.

The scale is 2cm to 1 m.
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(@) A cuboid has length 4cm, width 3 cm and height 1.5¢cm.
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Calculate the volume of the cuboi

®

i

, draw an accurate net of the cubo

One face has been drawn for you

gri

(ii) On the
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0 6 A cuboid has length 6 cm, width 5cm and height 3 cm. M-li-1F

On the 1 cm? grid, complete the net of the cuboid.
The base is drawn for you.
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NOT TO
SCALE

6¢cm
Answer(a) Angle ABC

C
4cm
=6cm.

4cm and BE
The line BE has been drawn for you.

(b) On the 1 cm? grid, draw an accurate net of the prism.

The diagram shows a triangular prism.
(a) Write down the size of angle ABC.

Triangle 4BC is equilateral.
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(1]

NOT TO
SCALE

8cm
ANSWEP(A)(1) vvvreeirereeeeeeeeeeeceereaeas

4em
The cross section of the box is an equilateral triangle with side 4cm.
Side AB has been drawn for you.

The length of the box is 8em.
(i) Write down the mathematical name for the box.

(i) Draw an accurate net for the box.

Sweets are packed in a box.
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(iii) The surface area of the box is 10986 mm?>,
Change this surface area to square centimetres.
Answer(@) (i) .oooeveeeeeeeeeeeceeeeee. cm? [1]
(iv) The box contains 120 g of sweets, correct to the nearest 10 .

Write down the lower bound of the mass of sweets in the box.

ARSWEFLA)(IV) v vavssnrnnsesssivissssisamsassns savisases sose g [1]
(b)
NOT TO
SCALE
Another box of sweets is in the shape of a cylinder.
The cylinder has diameter 3 cm and length 10cm.
(i) Calculate the volume of the cylinder.
ANSWEP(B)(1) cevvvevveeeirereiereeeieereseereennas cm® [3]

(ii) A label of width 4 cm fits around the cylinder with no overlap.

Calculate the area of the label.

ARSWEP(BJCIL) ......viiseassssssommsmmnsssmmasans sivasa cm? [3]

Question 9 is printed on the next page.
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NOT TO
SCALE

09

4cem

The diagram shows a prism.

The cross section is an equilateral triangle.

On the grid, draw an accurate net of the prism.

The base is drawn for you.
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o

The diagram shows part of a net for a cuboid drawn on a | em? grid.

(i) Complete the diagram for the net of the cuboid.

© UCLES 2015
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(i) Calculate the surface area of the cuboid.

ANSWEF(A)(I1).evoveeeeeeeeeeee e cm?[2]

(iii) Calculate the volume of the cuboid.
Give the units of your answer.

AnSwer(@)(11) eevveeieciiciieiiies i [3]

(b) A different cuboid has volume 60 cm?.
Its sides are all integer lengths.
All of its sides have length greater than lcm.
The length of one of its sides is a square number.

Write down the dimensions of the cuboid.

Mob: 4974 55373670 / 33737500
E«mall:chymrc.muh;m\mad@gmeﬂ.com
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:

(i) On this 1 cm? grid, complete the net of the cuboid.

(a) A cuboid measures 6¢cm by 3cm by Zem.
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(a) Each diagram shows the net of a solid. T=12-1F

12

Write down the mathematical name of each solid.

(i)

................................................. [1]
(i)

................................................. [1]

(b) The cross section of this prism is a trapezium.

NOT TO

SCALE
Calculate the volume of the prism.

......................................... em’ [3]
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12~ 7 2

The diagram shows the net of a solid.

Write down the mathematical name of this solid.

Answer
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